Transfers Report

This report contains the transfers results.

Contest Name	Ward 6 Pollokshields
Valid Votes	10,362
Positions to be Filled	4
Quota	2,073

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Carole Louise FORD	Scottish Liberal Democrats	309
Zen GHANI	Scottish National Party (SNP)	1,755
Ewan HOYLE	Volt UK - The Pan-European Party	421
Norman MACLEOD	Scottish National Party (SNP)	1,412
David MEIKLE	Scottish Conservative and Unionist	1,299
Jon MOLYNEUX	Re-elect your Scottish Green Councillor	2,290
Hanif M RAJA	Glasgow Labour	1,709
Tom RUDDELL	Scottish Trade Unionist and Socialist Coalition	88
Muhammad SHOAIB	Alba Party for independence	367
Fariha THOMAS	Glasgow Labour	712
	Total	10,362

Candidate Jon MOLYNEUX Elected with 2,290 votes, being in excess of the quota of 2,073

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Jon MOLYNEUX

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Carole Louise FORD	118	0.09475	11.18050
Transfer to Zen GHANI	732	0.09475	69.35700
Transfer to Ewan HOYLE	315	0.09475	29.84625
Transfer to Norman MACLEOD	416	0.09475	39.41600
Transfer to David MEIKLE	22	0.09475	2.08450
Transfer to Hanif M RAJA	217	0.09475	20.56075
Transfer to Tom RUDDELL	132	0.09475	12.50700
Transfer to Muhammad SHOAIB	13	0.09475	1.23175
Transfer to Fariha THOMAS	147	0.09475	13.92825
No further preference	178	0.09475	16.86550
Not transferred due to rounding			0.02250
	Total		217.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Tom RUDDELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Carole Louise FORD	2	1.00000	2.00000
Transfer to Zen GHANI	15	1.00000	15.00000
Transfer to Ewan HOYLE	8	1.00000	8.00000
Transfer to Norman MACLEOD	9	1.00000	9.00000
Transfer to David MEIKLE	1	1.00000	1.00000
Transfer to Hanif M RAJA	6	1.00000	6.00000
Transfer to Muhammad SHOAIB	7	1.00000	7.00000
Transfer to Fariha THOMAS	18	1.00000	18.00000
Transfer to Carole Louise FORD	3	0.09475	0.28425
Transfer to Zen GHANI	41	0.09475	3.88475
Transfer to Ewan HOYLE	18	0.09475	1.70550
Transfer to Norman MACLEOD	14	0.09475	1.32650
Transfer to David MEIKLE	1	0.09475	0.09475
Transfer to Hanif M RAJA	22	0.09475	2.08450
Transfer to Muhammad SHOAIB	1	0.09475	0.09475
Transfer to Fariha THOMAS	15	0.09475	1.42125
No further preference	22	1.00000	22.00000
No further preference	17	0.09475	1.61075
Not transferred due to rounding			0.00000
	Total		100.50700

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Carole Louise FORD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Zen GHANI	19	1.00000	19.00000
Transfer to Ewan HOYLE	49	1.00000	49.00000
Transfer to Norman MACLEOD	18	1.00000	18.00000
Transfer to David MEIKLE	61	1.00000	61.00000
Transfer to Hanif M RAJA	59	1.00000	59.00000
Transfer to Fariha THOMAS	50	1.00000	50.00000
Transfer to Zen GHANI	19	0.09475	1.80025
Transfer to Ewan HOYLE	15	0.09475	1.42125
Transfer to Norman MACLEOD	21	0.09475	1.98975
Transfer to David MEIKLE	8	0.09475	0.75800
Transfer to Hanif M RAJA	19	0.09475	1.80025
Transfer to Fariha THOMAS	16	0.09475	1.51600
No further preference	55	1.00000	55.00000
No further preference	23	0.09475	2.17925
Not transferred due to rounding			0.00000
	Total		322.46475

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Muhammad SHOAIB

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Zen GHANI	81	1.00000	81.00000
Transfer to Ewan HOYLE	17	1.00000	17.00000
Transfer to Norman MACLEOD	36	1.00000	36.00000
Transfer to David MEIKLE	8	1.00000	8.00000
Transfer to Hanif M RAJA	70	1.00000	70.00000
Transfer to Fariha THOMAS	25	1.00000	25.00000
Transfer to Zen GHANI	4	0.09475	0.37900
Transfer to Ewan HOYLE	4	0.09475	0.37900
Transfer to Norman MACLEOD	1	0.09475	0.09475
Transfer to David MEIKLE	2	0.09475	0.18950
Transfer to Hanif M RAJA	2	0.09475	0.18950
No further preference	137	1.00000	137.00000
No further preference	1	0.09475	0.09475
Not transferred due to rounding			0.00000
	Total		375.32650

375.32650

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Ewan HOYLE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Zen GHANI	87	1.00000	87.00000
Transfer to Norman MACLEOD	74	1.00000	74.00000
Transfer to David MEIKLE	60	1.00000	60.00000
Transfer to Hanif M RAJA	76	1.00000	76.00000
Transfer to Fariha THOMAS	70	1.00000	70.00000
Transfer to Zen GHANI	120	0.09475	11.37000
Transfer to Norman MACLEOD	44	0.09475	4.16900
Transfer to David MEIKLE	8	0.09475	0.75800
Transfer to Hanif M RAJA	38	0.09475	3.60050
Transfer to Fariha THOMAS	54	0.09475	5.11650
No further preference	128	1.00000	128.00000
No further preference	88	0.09475	8.33800
Not transferred due to rounding			0.00000
	Total		528.35200

528.35200

Transfers Report

This report contains the transfers results.

896.98200

Stage 7 - Exclusion of Fariha THOMAS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Zen GHANI	48	1.00000	48.00000
Transfer to Norman MACLEOD	56	1.00000	56.00000
Transfer to David MEIKLE	58	1.00000	58.00000
Transfer to Hanif M RAJA	581	1.00000	581.00000
Transfer to Zen GHANI	50	0.09475	4.73750
Transfer to Norman MACLEOD	13	0.09475	1.23175
Transfer to David MEIKLE	3	0.09475	0.28425
Transfer to Hanif M RAJA	121	0.09475	11.46475
No further preference	132	1.00000	132.00000
No further preference	45	0.09475	4.26375
Not transferred due to rounding			0.00000
	Total		896.98200

Transfers Report

This report contains the transfers results.

467.70025

Stage 8 - Surplus of Hanif M RAJA

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Norman MACLEOD	386	0.18408	71.05488
Transfer to David MEIKLE	425	0.18408	78.23400
Transfer to Norman MACLEOD	163	0.01744	2.84272
Transfer to David MEIKLE	8	0.01744	0.13952
No further preference	1,690	0.18408	311.09520
No further preference	248	0.01744	4.32512
Not transferred due to rounding			0.00881
	Total		467.70025

Transfers Report

This report contains the transfers results.

23.52850

19.56768

0.83316

Votes Transferred

0.01122

0.00106

Stage 9 - Surplus of Zen GHANI No. of Ballot Transfer Value Action Papers Transfer to Norman MACLEOD 1,744 Transfer to Norman MACLEOD 786

No further preference	237	0.01122	2.65914
No further preference	172	0.00106	0.18232
Not transferred due to rounding			0.00844
	Total		23.52850

Transfers Report

This report contains the transfers results.

1,569.82028

Stage 10 - Exclusion of David MEIKLE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Norman MACLEOD	146	1.00000	146.00000
Transfer to Norman MACLEOD	105	0.18408	19.32840
Transfer to Norman MACLEOD	5	0.09475	0.47375
Transfer to Norman MACLEOD	6	0.01744	0.10464
Transfer to Norman MACLEOD	11	0.01122	0.12342
Transfer to Norman MACLEOD	5	0.00106	0.00530
No further preference	1,341	1.00000	1,341.00000
No further preference	320	0.18408	58.90560
No further preference	39	0.09475	3.69525
No further preference	2	0.01744	0.03488
No further preference	13	0.01122	0.14586
No further preference	3	0.00106	0.00318
Not transferred due to rounding			0.00000
	Total		1,569.82028